ISR TR AT

Post”

golve the problems. Show your work.
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- ® Dad plants 30 roses in & rows in the garden. How many roses

are there in each row?

roses in each row.

There are

@ Tom buys 3() goldﬂsh He puTs Them in 4 bowls How momy
goldfish are there in each bowl?

There are goldfish in each bowl.

@ A chlcken ple CosTs sS4, How momy chlcken pies can be
bought for $28?

chicken p|es can be boughT

@ 20 boys Ond glrls wenT To The movies in 5 cars. How many
children were there in each car?

children were in eoch car,

Put + or - in the () to make each number sentence true.
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